When I multiply the muttipicand by \
the tens digit of the muttiplier T put a

zero in the ones column.

In my head?
With jottings?
Formal written method?
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426 x 50 = 426 x 100 + 2
= 42600 + 2
= 21300

30X99=30%100-30x 1
= 3000 - 30
= 2970

If I know... then
T also know.
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If the digits are the same
then a 2-digit number is

The digit sum of muttiples
of6is3,60rq
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04x7=17

IfTknow 4 x 7 = 28

then I also know that 04 x 7 =28
@ @ because it is ten times smaller.

24x3=17

If T know 24 x 3= 72

then I also know 24 x3=7.2
because it is ten times smaller.
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All multiples of 6 are even AAn odd number muttiplied by
numbers. 11 gives an odd product.
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The digit sum of muttiples A number is divisible by 12
ofqisq ifit is divisible by 8 and 4

An odd number muttiplied Al multiples of 12 are

by 9 gives an odd product. 3

An odd number muttiplied
by 7 gives an odd product.

. 70x6=17

An even number muttiplied IfTknow 7 X6 =42
by 7 gives an even then T know 70 X 6 = 420
product. IPT know...then L7 0 || o because it is ten times greater
64x0=0 T also know. ¥
Sax1=64 5X2x6 5X2X6 3200 *o0= IfTknow 6 x 4 = 24 =

= =10%6 =6x12 then T know 60 X 4 = 240 18,
The product of a number =% = gox (DxA0x®) because it is ten times greater 4? If T know... then

I also know...

6x4 =24
60 x 4 = 240

6X40=24®
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3000 is one hundred times greater than 30 =42x40
2 mutiplied by one hundred is 200 =420

The digit sum of muttiples
of3is3,60rq

ESse

An odd number multiplied
by 3 gives an odd product.

Al multiples of 4 are even
numbers.

There is a repeating
pattern in the ones
column: 0, 4,8,2,6

All muttiples of 8 are even
numbers.

2 2

All multiples of 8 are aiso
mutiples of 2 and 4
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16 18 20 22 24
T T 1
4 10 1 12

There is a repeating
[FEAETET 24560 2x5=10  6x2=10

10=2x5  10=5x2 IFT know.. then
Even numbers are 10+2=5 10+6=2 T also know.
dhvislielby2 5=10-2  2=10+5

10, 4,10 10, 10,400 10,330  10,41,110
10, 2,20 10, 5, 50 10, 6, 60 10, 9, %0

10, 4, 40 10,12,120 10, 7, 70

10, 8, 80
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®Three groups of four

| 4+4+4=12
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QOOOQ@® 4 mutplied by 3
4x3=12

0000

Q000 3 groups of 4
3

x4 =12
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i 0,2, 4,6,8,10, 12, 14, 16, 18, 20 ..
Double 3is 6 hree groups of 4

Multiples of 10 all have

T 1
zero in the ones column. 8
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0 1 12

EBasy *ﬁ.»_&ﬁ{

EGEeN

80 90 100 110 120
T
q

EEEEEEEEEEEEE
WenERvuIEROR Ny
sEBBEEEES58E

Sroae | 44sta=12 5 45 5 45 Mmm‘?‘“’“
2 groups of 3=6 ° 8 groups of 4 ] 5 10 15 2
Tre arous ® 0000 0,5, 10, 15, 20, 25, 30, 35, 40, 45, 50 .. s ~s=m
are equal (O10) OO 10 12 divided equally K ETETET
O I i N, O o3 grouws
12:3=4 I
@ @@ @ 12 divided equaly P H Y [
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0 3 6 q 12 ow many 35
in twelve?
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